9 Jan 2015 (DOY 009)

GOES X-ray Flux

Time (UT)

@ X
S M
(@]
9 ¢ o o~ uWVIM( . A
3 8
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
t 35F 7
S r ]
€ 25} .
[N r 7
215
..m ' W?I i, v -
£os
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
—~ m0|uw nm
e 2.5F E
~ E 3
= 2.0F =
£ E E
o 1.5E E
¢ E 3
S 10F T 3
S E E
m 0.5E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
5 L ]
£ 07sL ]
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Irradiance (mW/m?)

Fe XVI 33.54 nm (log T=6.43)

0.0953[ ]
. e ]
0.0927} i ]
C " ]
0.0900 F s .
- 4 -
0.0873L L £, ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIV 21.13 nm (log T=6.27)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - -
£ 0.75L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIl 19.51 nm (log T=6.13)
t 2.25[0 7
> .
€ 1.75F .
o C ]
€ 1.25F .
5 L ]
£ 07sL N
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - -
£ 0.75L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - -
£ 0.75L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

0
0

0
0

0
0

0
0

Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

ESP 0—-7 nm
3.5 : :
2.5F f\ =
1.5 o R —
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ESP 17.1 nm
867 3
853 F w =
840 :WW#QM \%Wﬁ*‘%%
827E
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ESP 25.7 nm
607 3
593 =
580 , WWW‘M. » =
567 E
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
ESP 30.4 nm
1.06 E -
1.04F 3 o~ ) ¥ =
1.02 & N -
1.00 | 3
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
ESP 36.6 nm
0.75F 2 =
0.25 L3 s o el
e 3
0.25 E.
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—-P 121.6 nm
9.0 : :
8.9F =
8.8 =
8.7k =
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
E 1.75F 3
[} - =
Q 1.25: 3
2 0.75E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XX 72.16 nm (log T=6.96)
> 1.25x107°F v =
E 1.15x1073F =
8 1.05x107°F =
c N - =
2 9.50x107*E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XX 56.79 nm (log T=6.96)
> 1.72x107°F T 3
- ++++:.;"“t++ =
E 1.70x107E i, 3
[ s =
© 1.68x10 - RiEas =
2 1.66x107°E * =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
t Fe XIX 59.22 nm (log T=6.89)
> 9.8x107*E o, Tt =
E 96x10™E -
§ 9.4x107* =
2 9.2x107*E =
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
3 Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
E 1.75F 3
[} - =
Q 1.25: 3
2 0.75E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ S XIV 44.57 nm (log T=6.44)
> 0.0027F 3 =
E 0.0026 F -
$ 0.0025F ; =
2 0.0024E + -
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XVI 36.08 nm (log T=6.43)
> 0.0606 F T =
E 0.0593F AT -
() = + -
2 0.0579F s =
-2 0.0566 E Ll e =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XVI 33.54 nm (log T=6.43)
> 0.0953F o =
— +*|, : ]
E 0.0927F IR -
$ 0.0900 F =
2 0.0873E uk: - =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Time (UT)

ks Fe XV 28.42 nm (log T=6.30)
> 2.25F =
E 175E =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Si XIl 49.94 nm (log T=6.29)
> 0.03353F i =
— 4 T+ —
E 0.03327F » e
[} = * 3
g 0.03300 F Foa =
2 0.03273E : =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E Si Xl 52.10 nm (log T=6.28)
> 0.0123F - 3
E 00121F : -
$ 0.0119F - =
s = =
2 0.017E 3
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
E 175E =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
E 175E =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Mg X 60.98 nm (log T=6.10)
> 0.0195F =
E 0.0190F =
S 0.0185F =
s = =
2 o0.0180E =
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F =
E 175E =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Time (UT)

€ Mg X 62.49 nm (log T=6.05)
> 0.01868F =
E 001841F =
$ 0.01815F =
2 0.01788LE =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Mg IX 36.81 nm (log T=5.99)
> 0.0714F =
E 00701 F Y E
$ 0.0687F =
2 0.0674E -
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Ne VIl 77.04 nm (log T=5.81)
> 0.0144F RASIETIAN 3
= MO =
E 0.0142F et =
[} - =
9 0.0140
5 = Ll 3
2 0.0138E P 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 46.52 nm (log T=5.71)
> 0.0158F =
E 0.0157F =
S 0.0156 F =
2 0.0155E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.082F 3
E 0.080F E
8 0.078F =
£ 0.076E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



OV 62.97 nm (log T=5.37)

Time (UT)

E
~
2 0.065F o S
E 0.064F -
S 0.063F % =
2 0.062E . =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O IV 79.02 nm (log T=5.19)
> 0.0143F : =
E 0.0138F =
$ 0.0133F =
c = 3
2 0.0128E 3
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ O IV 55.44 nm (log T=5.19)
> 0.02753F =
E 0.02727F =
8 0.02700F =
< = 3
2 0.02673E 3
e
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 59.96 nm (log T=4.92)
> 5.333x107°F M =
E 5.267x107%F =
g 5.200x107* i E
2 5.133x107°E A =
©
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 52.58 nm (log T=4.92)
= 2.90x107°FE . =
E 2.85x107°F e =
g 2.80x107°F i E
2 2.75x107°kE M- -
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.188F =
E 0.183F 3
o = 3
© 0.178
© = -
c = 3
2 0.173E 3
©
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 1.75F 3
[} - =
S 1.25
© = -
< = 3
2 0.75E 3
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 1.75F 3
8 1.25F i
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)  Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)  Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

0.0365

0.0360

0.0355
0.0350

18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

O Il 71.85 nm (log T=4.48)

22:00

02:00

o
x
o)
S

0.0028

+

0.0026

0.0024
0.0022

18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

He | 58.43 nm (log T=4.16)

22:00

02:00

o
x
o)
S

0.0716

0.0703

0.0689
0.0676

18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

H 1 102.57 nm (log T=3.84)

22:00

02:00

o
x
o)
S

0.110

0.108

0.106
0.104

18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

H197.25 nm (log T=3.84)

22:00

02:00

o
x
o)
S

0.0240

0.0235

0.0230
0.0225

18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

H 1 94.97 nm (log T=3.84)

22:00

02:00

o
x
o)
S

0.0145

+
r++ +

0.0140

0.0135

0.0130
18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

He | 53.70 nm (log T=3.84)

22:00

02:00

o
x
o)
S

0.0075

0.0073

"
+, o+

0.0071
0.0069

|

18:00

22:00

02:00

06:00 10:00 14:00 18:00
Time (UT)

22:00

02:00

o
x
o)
S



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

A MEGS—AT
> 1.25 = 3
E o075E =
S 025F ; =
O — =
S _0.25E —
e
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
A MEGS—A2
> 1.25 = 3
E o075E =
S 025F ; =
O — =
S _0.25E —
e
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
g MEGS—B Short
\ —
S 0.418F 3
E 0413E =
(0] - -
S 0.408 -
C — -]
O — =
S 0.403E
el
° 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
g MEGS—B Middle
> 0.246F £ 3
E 0.244F : -
[ - " =
S 0.242 * -
c - | =
£ 0.240E A -
° 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“E MEGS—B Long
S 1.06F ., =
E 1.05E . E
() - -
o 1.04 -
c - o =
2 1.03E =
e 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



